HAVIS

A Productivity in motion

INSTALL INSTRUCTIONS
C-TSM-INUT-D

Havis, Inc.

75 Jacksonville Road

Warminster, PA 18974
800-524-9900 F 215-957-0729

www.havis.com

2013-2019 Ford Interceptor Utility
Will not work in Interceptor Utilities with OEM Optional Rear HVAC
CMO008279 Requires Optima Series 34 Battery

TOOLS REQUIRED:
Drill and drill bits

HARDWARE:
C-TSM-INUT-D

Qry: PART #

4 GSM33185
14 GSM30027
14 GSM33110

CMO008279 Battery Tray

Qry:

NN R R R

N

14

PART #
CMO007798

CMO007799
CMO007843
GSM20400
GSM30023
GSM30027
GSM30201
GSM31015
GSM33110
GSM33185

Will not work with option 63V

Socket set Air Saw or cutting tool

DESCRIPTION:
#10 x 3/4" Sheet metal screw

8-32 Keps nut
8-32 x 1/2" Screw

DESCRIPTION:
Lower battery mounting bracket

Upper battery mounting tray
Battery hold down

1/4 x 9 %” J bolt

1/4" Serrated nut

8-32 Keps nut

M6 nut

1/4" x 1 %” Fender washer
8-32 x1/2" Screw

#10 x 3/4" Sheet metal screw

Always!

Marker or pencil

» Read all instructions before installing any Havis, Inc. products.
» Check for obstructions (Wires, brake lines, fuel tank, etc.) before drilling any holes!

> Use hardware provided with install kit

C-TSM-INUT-D_INST_8-16



Havis, Inc.
75 Jacksonville Road
Warminster, PA 18974

T800-524-9900 F215-957-0729

Productivity in motion www.havis.com
Equipment tray Battery tray
CMO008215 CMO008279 C-TSM-INUT-D
(Optional) (Optional)

|

1/4" x 9 ¥ J bolts
a|- GSM20400
A Y

Battery hold down
CM007843

=1

Upper battery Lower battery
mounting tray mounting tray
CMO007799

CMO007798

Instructions for installing the C-TSM-INUT-D
/ —= J !r‘w, W

Carefully remove rear side trim Lay door frame over previously Drill and attach the door frame to
panel from the vehicle. removed panel and trace opening the panel using fourteen (14) 8-32 x
on the panel with a paint marker. 1/2" screws and keps nuts.

Cut along the paint line completely.

C-TSM-INUT-D_INST_8-16



Havis, Inc.

75 Jacksonville Road

Warminster, PA 18974

T 800-524-9900 F 215-957-0729
Productivity in motion www.havis.com

Instructions for installing the CM008279 Battery tray

Place the two (2) fender washers Attach battery tray to studs with Drill the sheet metal in the pinch
onto the OEM studs. Place the two (2) 1/4" washers (GSM31015) weld area. Remove the inner panel
battery tray assembly onto the studs. and two (2) M6 nuts (GSM30201). to allow access to all the holes in

the battery tray. Attach the tray
using four (4) sheet metal screws.

Re-install panel back into car. Install two (2) J bolts into the Carefully place battery onto the

battery tray through opening in tray and add the battery hold down
door. to the J bolts and connect cables.
Tighten all hardware

Instructions for installing the CM008215 Equipment tray

View of compartment with panel Install optional equipment tray into Installation of compartment is now
removed. compartment using four (4) #10 x complete.
3/4" sheet metal screws. Mount and Mount and wire equipment to door

wire equipment as desired. if desired.



